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 אינטגרל מהצורה:  שים לב:

  

  שיטת ההצבה:מחשבים לפי 

  

  

  נציב:

∫ ( 𝑎𝑥 + 𝑏 ) 𝑛 𝑑𝑥 = 
( 𝑎𝑥 + 𝑏 ) 𝑛 + 1 

𝑎 ( 𝑛 + 1 ) 
+ 𝑐   

∫ 
𝑎 

𝑥 𝑛 𝑑𝑥 = ∫ 𝑎 ∗ 𝑥 − 𝑛 𝑑𝑥 = 
𝑎 ∗ 𝑥 − 𝑛 + 1 

− 𝑛 + 1 
+ 𝑐   

∫ 𝒇 ′ ( 𝒙 ) ∗ [ 𝒇 ( 𝒙 ) ] 𝒏 𝒅𝒙 = 
[ 𝒇 ( 𝒙 ) ] 𝒏 + 𝟏 

𝒏 + 𝟏 
+ 𝒄   

∫ 
𝒍𝒏𝒙 

𝒙 
𝒅𝒙 = 

𝒍𝒏 𝟐 𝒙 

𝟐 
+ 𝒄   

  



 

  

   !!חשוב!!

 .  מטהקעורה כלפי  fהוא התחום בו  f מעל f -התחום בו המשיקים ל  •

 

 .  מעלהקעורה כלפי  fהוא התחום בו  fל מתחת f -התחום בו המשיקים ל  •

 

∫ 
𝒕 

𝒎𝒙 + 𝒃 
∗   
𝒎𝒙 + 𝒃 

𝒎 
  𝒅𝒕     

∫   
𝒕 

𝒎 
  𝒅𝒕 = 

𝟏 
𝒎 

𝒕 𝟐 

𝟐 
= 

𝟏 

𝟐𝒎 
𝒕 𝟐 = 

𝟏 

𝟐𝒎 
( 𝑙𝑛 ( 𝑚𝑥 + 𝑏 ) ) 𝟐   


